Joooooooogon

oogo-

200600 900 50

o0

gooooooooooooobooboooboobooboobobobbobOooDbbobOOobo200D 40
ooooooooooooo

1 OD0OOogd

1.1 0JO0booboooogoo

o0oo0ooooOoooOoooOo0OOoO0OOO0OO0OOOO0OOO0O0OO0OO0OOOOOOCOOOOOBO
000000000000000000000000000000000000000000000000
00000000000 oooO00o00oo0o00ooOoooooOO0OoO0OO0O000oOoOoOO0O0nO
oooOoooooOoboO0ooO0o000O0OO0O0OO0O0O0OOOCOOO0OO0O0OOOOOCOODOOOOOOB0OOO
oooooooOoO0ooOo0OOoOoOO0O0O0O0OO0O0O0C00O0OOO0O0O0OOO00OCO00000O0000O0
O0000oo0oO0o0ooo0oO0O000oo0o00oooo0ooo0ooooooo0oon

ooo0o0o0ooo0oo0o0o000Oo000o0o00o0U000D (C0OD)000LOO00O0DDOoOoOo
000 (partial differential equation) 00 0000000000000 000O000O000OO0OO0O0OO
00 (ordinary differential equation) 00 000 0000000000000 100000000O0OOO
oo0o0ooo0o0oooOoooooooo

) 1)

gbgobiooooooboooboobooooboooooobbooooooooooooboooooooooooo
ooooooobooboobobobooobobooooboboob10000oobOo0ooobooboooboOoOogg
ooooooooooobooooboooboongd

0000000000000 000000 yx)OOOOOOUOUOOODOOOOOOUOOooooooo
0000000000000 o00 (H)OoOoooUOye)OOODOOOOODDODOODOOODOODODO
oOoooooooooo (r,y)DODODOOODOOOOOOOOOODOODOOOODOOODOOOOOOOO
gooooo

*000000000000 MOoOooo



oobooboooooooooboooOooboooooobooOobobooooobobOoobooobooooooon
oooooobooooooon

Y .
— 2
d sinx cosx — ycosx (2)

goooooboboooooboboooboobobbbboobbooboboboboobobbboboogo
ubooooboboboobooboboooboooboobOooooooOooobooooooboboooo
goboooooooooooobooboboooooooobboooo xy0ooOoOooooOOooooooo
(2000000000000 O000000O00C0000OD 1000000000000 ooooooUo
goobboooooboboooooo

gbooboooooboooo

y=sinz —1+cre 57 (3)

gubobiliogboobobdoboglibooboboobboobooobobooogsbobobbboogan
O0000000000000020000000000000000000yY(x)0000O0OOOOCODO
goboooboboooooooooobobooobooooooboobOoooooooon

0(2)00000000000y(x)000000000000000000000000000 Oy(xo) =yo
goobooooboobobbooobbooobooobooboboobooboooooobo2b000
O0x0000y0OOODOOODODOO0ODO0ODO0OO0D0O0000O0DOOO0'0000000000000O00OOO0
goooooo

1.2 000040bobg

goooooboobooboocobooooboboobooooboooooooooobooooooooooon
DD(l)DDDDDDDDDDD dO00O0O0O0O0O0O0 ADOODOOO0OO0DAODOUODODODODODOOUOOUOOO
Ooo0oooooooooooooooo (1)DDDDDDDD
Ay = f(x,y)Ax (4)
0000000000000 0000x; 00 Az000 yODO yi-1 0ooogo
Yir1 = y(z; + Az)
=y; + Ay
=y + f(wi,yi) A (5)
0000000 20,900 00000000 (z1,41), (22,2), (23,93),... 0000000
0 ()00

e 10y 000000 yOOOOUDOOOO f(x,y,) 0 2000 Az 000000000 OCOOOO
ooooogo

00000000000 00000000020000000000000000000000



|

10

|
S SNNNNN [
N N N O R B
N N O Y B e
SNNNNNN S S e
R NP PP POt
-Vv_i _AAAAAA\AA\\\\\\\\\\\\“
\ IRRRRR RN R RN
/] IBAARR RSOSSN
oSS )] | A N N
A B B RN
a4V I I TANANANANE NN
- S )] \ / AN N NN
e S 0 0 0 N NN N NN
B e PPy I VVAN
i
SOUNNNNNN NN NNV w_\\
R e S TR [/ /
F S SSOSOSONNNNN N S
//////////////////ﬂ \\\\\\\
S N B B e e
NN [ A
AL L)) S S s s
VVH "AAA\\\\\\\\\\\\\\\\\\
RRRARRARARRARRRRARRRRR
/] RSSO NN
e I R N N N N
T

-
'

> 0

sinxzcosx —ycosx 0 OO0

dy _
dz —

U 1goodgo

020000000



obOoooboooboboooboooobooboobo3sobooooobooooooooooooboooboooon
000000000 (O000O0)DoOoOoOUUOOooOoOOoOoUoOo0oOooUooOoooooooooooo
O000o0ooo0ODOOoO00b0000 Az000000000DOOOOOOODODODOOOOOOOOODO
obooobob«; 0 2,000 0000000O0O0O000DOO000O0OO0OOO0OO0OO0O0O0OO0
obobooooooooboobbooobboboooooobooobon

A

/
g

Yie1

Yi

AN

03 000boooouoo (l‘“yl)D (xi-l-lvyi-i-l)

2 Juoon

21 000O0OO

ooboooboooooooboboobobooooboboobooOooooObOobOooooobooooooDon
goboooobooooooooooboooobooboooooboooboooboobooobOooooobooooo
bboooboooooooooobooboobooboon

oooboooobooobobOobooboboooboooboooooo

dy
FPACHD) o000 y(a) =0 (6)
x
0000000000 y=y(x)000002, 0000000000000
dy 1d3%y , 1d3y 3

00000000000 20000 () 0000000000 oOooOUOOoooOoooO

Yir1 = yi + f(25,y:) Az + O(Az?) (8)



ooboobooooog
Jd0000D0D0b00oo0oUOooUODoDO Az00000Q0O00O0OC0DOO
Yir1 = yi + f(@i, yi) Az (9)

0000000 ()0000000000000000000 1000020
oobooooOooooooobooooboboboooooboboooboOooooon

Yi+r1 — Yi
% = f(xi,yi)
dy x
y(a) =b To=a
Yo =1>

goo0o0o00ooooooouooouooooo
{yi+1:yi+f(xiayi)A33 (1)

Tit1 = X; + Az

0000000 (ze,90) 000000 (21,41, (z2,42),--- 000 000000000000000000
00000000000000000000000000000000 (¢,6)0000000000

00000000000000Oford whileJOOOOOOO0DOO000 (0000000)00000
00000 ;040000 x[E]0yl000000

x[0]=a;
y [0]=b;
dx = 0000000

for(DOOODOO){
x[i+1]=x[i]+dx;
yli+1]=y[1]1+£f (x[i]1,y[i])*dx;
}

ocoboooooobOoobOooObO40000000DODOOOOOOOOODOOODOODOOODOO
ob0ooboobooooooooboobooooooooooooonn

20000 O(Az"t) 0000000 n00000000000000000 n000000000000000



y(x)

04 000000000000 y0O00 AyODOOOOOOOOOOOODODO Az0000ODODOO
god

22 2000000000

2000000000000 DODODODOOOOODOO0O0OOO0O0DOOODOOOOO0ODbOODbOOOOO
gboboog 1gbboogoooboobbo 20bb0ooOoon

2.2.1 0000

o00 OoOoobooobObO0oOo0o00o0o0o1lbooooooooboboo20000000000D000
02000000000000 Az00000QCOCO0OOOOOOOOOOOOOOOUODOOOO ADO
gooooooooo

200000000000C0000O0000

(o + 1) = ylwo) + ' (w)h + 54" (ao)h* + O(HY) (12)
oo booooooooboobo
Ay =y(xo + ) — y(zo)

=/ (wo)h + 34" (w)h? + O1)

gbboobobooooaon



0 (13)000000000y000 AyOOOUOOUOOOO1000O0 20000 200000000
ooboboboooobbobobooDb200b000000002000000000000000O0O00DOOO
ggboobobooboooooooooboboooooboooooboooooooooooobon
a0 0000000000000 O0OO00O00OO0

Ay = h{ay'(zo) + By (xo + h)} (14)

000000000000 o,p00000000O0O00ODOO (13)0DO0UDOODO
o000 zx00000D000DO0O00OD0OO

Ay = (a+ B)y (wo)h + By (zo)h* + O(h?) (15)
goooggoooo (13)DDDDDDa+ﬂ:1, 6:1/2[||]|]D[|

o =

!
2
i (16)
i=3
g

0000000000000 00000000o0oUooO (p)ooooUooooooooooo

kl = hf(xn,yn)
ko = hf(zn + h,yn + k1) (17)

1
Yn+1l = Yn + 5(/€1 + k2)

oboooooboooboboooooboooobooooogooobobobobboobDOoboboDbboboD
gbObOos0b0oboobooboooooboobboobooooooboooooooboboooon
oooooooboboooobooooboooooooboooooooooon

00000 000000000 (1700000 20000000?00000000«0 400000
0000000000 2+h00000 ¢/(z+h) 000000000 (17)000 f(2n +h,yn + k) 000
000000000000000000000 (17)0000000000000000000000000
00000 2000000000000000002000000000000000000030000
0000000000

000000000 2000000000000000000000

1
Yntl = Yn + i(kl + ko)

= o+ g {F ) + Fn + o+ 5 )

h 0 0
— 5 { o) 4 Fonsm) + 50+ g+ 00} a8)

=i+ Semt 5 {5+ ) 12+ 00)

dy 1d%y 3
Yn + dx + 2 dx? +0(r)



y(X)
] U fH &

1 1 1 Lo
%o X % %y X

05 0000000000DOy000 AyOODOOOOODOODOOODOOOOOOODODO AzO
goooboooooo

000000000000 U00000O (r)Oo0L00000O00U00O0 2000000000000O
oog
oo 3b0boobogoooooboo0gooboooob soooooboooooboboobo

Py d (&
dz3  dx \ da2?

_d (of  of
m(ax f)

022 Ozxdydx oxdy  Oy? dx Oy \Oz Oydx

(19)
_»52f o*f *f | *f of (0f | of
e 8x6yjk+ <8x8y +>f>‘f+_ <3 f)
*f *f | °f of (of | of
o TV *f”ay(wf)

dxdy
0 0 0
~ (5 a) P (ot a) !
ooos o

S0 (1990000000000000000000000000

et (W) =L = A YA

- dx dr  dydzx Oz

2 @ e



00000000 300000000000 (8 DOUOoOooUoooU 200000000000

A2 f(xn + h, Y + hf (@0, yn)) A2 f(zn + b, yn + Fh)
dh? - dh2

~d [of  of
=3 (o ")

e *f Pf o

T 022 (%cayF 8:1:8yF + BT/QF (20)
e o*f 0f
T 022 + 8w8yf+ 8m6yf+ [“)7y2f

B o\?
<(‘3x+f8y> !
good

000000000000 30000000 (199000000 300000 (2000000000000
goooooboo3bobobooboboooobo0ooooo 200000b0oOoos3sbobooonooooDan
oooboooooooboooo200b0o0obobobooooboboooobooonog

2,22 000

00 OoooooboooboobOoz20b00000000O0O0bO0O0000O0O0O0bO0O0O0000O00000
oooobooobooboobbooooooboo20b0bobo0ob0200b000obODOoOoDoDOoOobOOobOO
0000 (149000000ooo

Ay = hay/ (o) + By (w0 + ) (21)

goobodg zeO00oogoooooboogd

Ay = (ot O/ o)+ Sy (o) 12+ O(?) (22)
000000000 (13)ooooooo
«=0 (23)
g=1

gbobooboooboooooooooobooooon

kl = hf(xnvyn)

7yn+ 2

2
Yn+1 = Yn + k2

gboboobooooobooobobgoedooooa




00000 0O (®UUOUOOoOooOoOoOooOoOoOoUOOoOU0OOoo2000000000DooUOUUoon
oboooboooobooo

Ynt+1 = Yn + k2

h hf(zn, yn
:yn"f'hf(xn%_*vyn%_w)

2
ofh Of

h
yn+h{f(xn7yn)+al,2+ayf(xn7yﬂ)2+0(h2)} (25)

1Lfof  of 2 3

= UYn n,nh‘ = a a_ nsys JIn h’ Oh

mt fennit 5 {5+ Gt o2+ o
dy 1d% ,

gt Iy 22 omd

yn+dx +2dx2 +0(0)

000000000000 000000oUoO0OoO (7)0D200000000000000000 20000

000000000000 030000000000000000O0OUO0O0O0ODOO (2000000000

oo hDD%DDDDDDDDDDDDDDDD

Cf e+ Gy + o) 1000 %
dh? T4 f (26)

000000000O00O000O0O0Oo (1900000000030 000000000000OOOOOOn

A

y(¥)

A CAH &

1 1 1 1 -
% X % % X

060000000000 y0O0O0 Ay0OOOOOOOOOODOOO Az000O0CDOOODODOO

10



23 40000000000

gbobboouooobOoboOo 2000000000000 b000DbOO0OO0DbOOO0O0O0O0O0O0bOO0O0DO
oboooOobooobooooooooooobob 400000000000 000O0O000O0DOODODOODOO
56,7, ---0000000000O00O00ODODOOO0OOOODOOOO0400000000DODAO
dooduoodooooboooooooooboooboooooooboog s0ob0ooboboooOonn
obooooobooood

gb0oooboooobooobooooobooooobooobobooboooooooobooo 400000000
gooooooobobooooooobooo4bbbob00oooooooobooobDboooobbooOoo
goooooobobooo-—-4oooooooboobooooboooboooobob2000b00D0O0DO ---00
oboboooooo40000 ---000000000000000000000b0O00ooo0oobob04000
oooooboboboooobooboobooboooooooobo

ooobo4000000C000DOOO0OOO0ODODOOOOODOODODOOOOODOODOOODOO
00000 0O0Bulirsch-Store D0 0000000000000 OO0OOO0ODOOODOOOOOODDOOO
00000000000 jooooouooooog

4000000000000000 (20000000 ODOODDOD0OUOODODOODOOOOYOOOOOD
goboooobd

2000000000000 O0O000O0ObOO0O040000000000000DOOODOOOCOOOOOO
goboooobooobooOobobOoboOooooooog

ki = hf(xna yn)
k1

h
k2 = hf(xn + §7yn + 5)
h k
k3:hf(xn+§ayn+52) (27)

ks = hf(xn + h,yn + k3)

1
Unt1 = Yn + é(kl + 2ky + 2k + ky)

11



y(x)

] ] ] L
Xy X X

O 7400000000000000D000y0O00 AyOOODOOD 400000000000O0DOO
OA:00000000000

3 ooooooon
3.1 4000000000000O0O000

goobobobooooobobboobboooobobbbolbbboboboboooOobobon
gbobooboboobooobooboobobooooooooobooobDooboool1IbooDboboo
gobooboobobooboobbooobbooboooooobuob bbb ooboobobbobobo
gooboooooboligbbbodooobooooo bbb bbooon o
ogn
ooooboboboooboooo 1oooboobobooobobDbooOobDobobobbooo
ooooobuobobob 2000b00obo0gooboooo
2
=1 (s ) (29)
oooooooood(e,y,dy/de) 0 300 0000000000000 0O0O0OO 000000y 0OO
dy/dz0 0000000000
o 200000bob0o 110 oboboooobo

{Yo(ff) =y(x)
Yi(x) =y (x)

12



O000U0O000OoooOoOooooo (28)0

? - Yl

’ (30)
WY e, 1)

dz - s L0y L1

gobboboooboo2000b0o0boo11obooboboooooobooobobbobolooann
oooooooooobo4000000000DO00OO0ODODOOODODOOOOOO

ki =hYin
gl = hf(xnvyb,n; Yl,n)

ko = h (Yln + %)

k1 4

h
= n 7;Y,n 7aY,n Yy
by =hf(z t 5 Yo+ 511 +2)

ks =h (Yln + £2>

2 (31)

_ h ko 2
Uy = hf(xn + §7Y0,n + ?7Yl,n + 5)

ks =h (Y1, +03)
by =hf(zn +h,Yon+ks, Y, +03)

1
Yont1 =Yon + E(kl + 2ko + 2k3 + ky)

1
Yint1 =Y1n+ 6(51 + 205 + 205 + £y4)

00000000 C00O0O0O00OU00O0OO0O0 2000000000000 0U0O0O0OO0O0UODOO0O0OO0 y(x)
OYy,oboooooooooooooo vp;,0000

4 0OO0oO0boo0

ocoooooooooooObO0o0bOoOOo ROD0OO0OOOOODOOOOODOOODOOOOODOOODDO
gooooboooobooooooooboooooooboooooob0oooooboboooboDobOooo
bobooooooobooooooooon

0000000000000 00000O000U000O00O0U0OUUoooo0ooooooUOoooo (1]
ooboooooooon

13



Jodd

[1] Willam H. Press et al. NUMERICAL RECIPES in C [0 UO0O0O]. 00000, 1996.

14



